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Class P1            Numeracy and Mathematics 

   Numeracy                    Task 1     Maths               Task 2      Money                       Task 3  
  
  Aim: To recognise a ‘greater than’ sign 

 

 This sign  means greater than. It also means bigger than or 

more than. 
 

 6  2 

 
 This would say 6 is greater than 2    or 

                          6 is more than 2       or 
                          6 is bigger than 2 

 The open part of the sign is like a wide open mouth and it 
always faces the biggest number. Sometimes it is good to 
think about it as a hungry crocodile mouth. 

 

 
 
Now it’s your turn! Can you draw your own ‘greater than’ 

crocodile sign? Put some numbers on pieces of paper or on 
some bottle tops. Can you make some greater than 

sentences with the largest number first beside the open 
mouth? 

  
Aim: To solve a problem by acting it out 

 

If you can, gather some items that could be used as 

fence posts. You could use pieces of coloured Lego or 
pieces of paper cut up. 

 

Use your ‘fence posts’ to act out the following 

problem. 

 
‘The school fence is going to be painted. 

Two fence posts are red and the next fencepost 

is green all the way round the school. This pattern is  

repeated. 

The first two fence posts are red. 

What colour is the tenth fencepost?’ 

 

 
 
 

 
 

 
 

  
 Aim: To calculate change 

 
 This follows on from yesterday’s lesson. 
 You have a 20p coin. Do take away sums 

to work out the change the shop keeper 
would give you back. You could use the 

touch head and count back strategy. (Touch 
your head and say 20 then raise fingers one 
at a time as you count back.) 

 
 Bubbles ( 20p – 5p = ) 

 A Balloon  ( 20p – 2p = ) 
 A ball 
 A yo-yo 

 
Extra Challenge: Buy 2 things from the 
shop with your 20p. You will need to add 

together how much they cost. Next do a 
take away sum starting with 20p and taking 
away the cost of the two items together. 

 



   

                       

               

                     

 


